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PN 2 2 EREIE EHLLEFELS 28 18 40 | 129 54 50 ] 28 24 20[130 2 40
BEXE 3 1 EREEE EHVLLFEHAR 28 13 40 | 129 52 50 ] 28 19 20130 0 40
[ E PN 5 2 5 FI] 15 hEYSE 28 29 40 [129 37 20] 28 35 20129 45 10
RS SAEALD 28 44 30]129 46 0 | 28 46 0 [129 47 3028 33 0 J129 40 30
BERE 6 1 TEEHE HEALIT 28 24 40 [129 37 20] 28 30 20129 45 10
BEXE 6 2 FEKR HhEE 28 19 40 | 129 37 20] 28 25 20 [129 45 10
[ E PN 6 3 BESD =225 28 24 40 [129 29 50 ] 28 30 20129 37 40
BEXE 6 4 2 B BEESR 28 19 40 [ 129 29 50 ] 28 25 20| 129 37 40
BERE 7 3 TBEE HEHCHEE 28 14 40129 29 50] 28 20 20|129 37 40
BEXE 10 | 2 2 FETRED HEELR 28 19 40 [ 129 22 20] 28 25 20129 30 10
BERE 10| 4 KA BEEHE 28 19 40 [129 14 50 ] 28 25 20129 22 40
BEXE 11 1 XH THED 28 14 40 | 129 22 20] 28 20 20 [129 30 10
[ E PN 11 2 LI FE PAE 28 9 40 [129 22 20] 28 15 20129 30 10
TEXE 11 3 5L wHA 28 14 40 [129 14 50 ] 28 20 20 [129 22 40
BERE 11 4 BEAE HFEALL 28 9 40129 14 50] 28 15 200|129 22 40
TBEXE 12 1 HiF o2 28 4 40 [129 22 20] 28 10 20129 30 10
TEAE 12| 3 HiZE ) 28 4 40129 14 5028 10 20129 22 40
TEXE 12 | 4 iE =Y 27 59 40 [129 14 50] 28 5 20129 22 40
BERE 15 1 FR SlTA 28 14 40[129 7 20] 28 20 20129 15 10
TBEXE 15| 2 i IZLSH 28 9 40f129 7 20] 28 15 20129 15 10
BERE 16 1 FAE ey iabi 28 4 40f129 7 20] 28 10 20129 15 10
TEEXE 16 | 2 5% £5 27 59 40[129 7 20] 28 5 20[129 15 10




